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Math Test - No Calculator

25 MINUTES, 20 QUESTIONS

Turn to Section 3 of your answer sheet to answer the questions in this section.

For questions 1-15, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 16-20,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 16 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is not permitted.

2. Allvariables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4. Allfigures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x) is a real number.
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The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2.
The sum of the measures in degrees of the angles of a triangle is 180.

Unauthorized copying or reuse of any part of this page is illegal. 34 m
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Tony spends $80 per month on public transportation.

A 10-ride pass costs $12.50, and a single-ride pass costs

$1.50. If g represents the number of 10-ride passes
Tony buys in a month and ¢ represents the number of
single-ride passes Tony buys in a month, which of the
following equations best represents the relationship
between gand 12

A) g+t=80
B) g+t=150+12.50
C) 1.50g+12.50t=80

D) 12.50g+1.50t=80

T =1,000+18h

In the equation above, T represents Brittany's total
take-home pay, in dollars, for her first week of work,
where h represents the number of hours she worked
that week and 1,000 represents a sign-on bonus, If
Brittany's total take-home pay was $1,576, for how
many hours was Brittany paid for her first week of
work?

A) 16
B) 32
C) 55
D) 88

Unauthorized copying or reuse of any part of this page is lllegal.
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A clothing store is having a sale on shirts and pants.
During the sale, the cost of each shirt is $15 and the
cost of each pair of pants is $25. Geoff can spend at
most $120 at the store. If Geoff buys s shirts and p pairs
of pants, which of the following must be true?

A) 155+25p<120
B) 15s5+25p=120
C) 25s+15p<120

D) 25s+15p>120

What is the solution to —3(x —5)=-2x+47?

A 1
B L

5
o -9
D) -19



3 = 3

, There were no jackrabbits in Australia before 1788
f(x)=x"+3x*—6x-1 when 24 jackrabbits were introduced. By 1920 the *

For the function f defined above, what s the value of population of jackrabbits had reached 10 billion. If the

£(-1)? population had grown exponentially, this would
correspond to a 16.2% increase, on average, in the
&) —11 population each year. Which of the following functions
B) -7 best models the population p(t) of jackrabbits ¢ years
: after 17887
c 7 :
D) 11 - A p(t)=1.162(24)

B) P(r)=24(2)1.162r
Q)  p(t)=24(1.162)
D) p(t)=(24-1.162)'

Triangle ABC and triangle DEF are similar triangles,

where 4B and DE are corresponding sides. If
DE=2AB and the perimeter of triangle ABC is 20, what
is the perimeter of triangle DEF?

A) 10
B) 40
C) 80
D) 120

36
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Which of the following is equivalent to the sum of
3x* +2x’ and 4x*+7x°?

A) 16x*
B) 7x*+9x°
C)  12x* +144°

D) 7x*+9x’

The function fis defined by f(x)=x*, and the
function g is defined by g (x)=x* +3 . Which of the

following translations of the graph of fin the xy-plane
results in the graph of g?

A) A translation 3 units downward
B) A translation 3 units upward
C) A translation 3 units to the left

D) A translation 3 units to the right

37
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Note: Figure not drawn to scale.

In the figure above, segments AE and BD are parallel. If
angle BDC measures 58° and angle ACE measures 62°,
what is the measure of angle CAE?

A) 58°
B) 60°
C) 62°
D) 120°
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An oceanographer uses the equation s =% p tomodel

the speed s, in knots, of an ocean wave, where p

represents the period of the wave, in seconds. Which of

the following represents the period of the wavein ¢' 2 o~
terms of the speed of the wave? Which of the following could be an equation for the
: graph shown in the xy-plane above?
A) p= 35 >
2 A) y= -3 x+8
3
B) p =—3%
2 B) y= —% x+4
2
C) p==+s :
i 73 Q) y= —% x+4
5 :
D ==
) 4 2"|‘.$ D} y=-%x+8

38
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G ax+ by =b
In the equation above, a and b are constants and"
0 <a <b . Which of the following could represent the
graph of the equation in the xy-plane?
H
u y
A)
Note: Figure not drawn to scale. ¥
Triangle FGH is inscribed in the circle above. If arc x
FG is congruent to arc GH , and the measure of
Z£Gis 30°, what is the measure of #/H ?
A) 30°
‘}’
B) 60° B)
C) 75° 1
D) 120° %
= ; 1
C) N
Which of the following is equivalent to ¢x* +8x+16, N
where x > 0? H :
i X
A) (x+4)
B) (x+ 4)2
C) (x+4) #
L D)
D) (x+4)2
x

Unauthorlzed copying or reuse of any part of this page is lllegal.
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Answer: % Answer: 2.5
DIRECTIONS
For questions 16-20, solve the problem and mtﬁe? | Z1/11 | P o I
enter your answer in the grid, as described in boxes. @[] |<Fraction (@)
below, on the answer sheet. ©)[®) = MO < Decimal
|ojol@ | olojo] P
1. Although not required, it is suggested that 00 JO) 0000
you write your answer in the boxes at the top el ) 2|@||@
of the columns to help you fill in the circles Gridin| [IB|B)|B) ©)[©)[©)[©)
accurately.You will receive credit only if the result. 1| @l @|@)|@ @|®|®|@
circles are filled in correctly. 0066 GBI @
2. Mark no more than one circle in any column. ®\|®|®|® ®|®|®|®
3. No question has a negative answer. QDD DDIDID
4. Some problems may have more than one
correct answer. In such cases, grid only one ®|0|0|® ®@\0|®|®
answer. “
5. Mixed numbers such as 3% must be gridded Acceptable ways to grid % are:
as3.5or 7/2.(If IS entered into the 2|/ | 3 . 6'6 6 lelet7
grid, it will be interpreted as 3 hot 31 ) Py | o it e
, 2/"3 o000 |ecloe leloldle
6. Decimal answers: If you obtain a decimal O[O[O) |©@|©@|© | ©@|0|©®
answer with more digits than the grid can (T 37 M
accommodate, it may be either rounded or g 9 % % % % g % 8 % % %
truncated, but it must fill the entire grid,
FIOC(@® (BB BB
@|@B@ @GOG @O
GIOIBIG (BPIBG| |®BBI®
GBreI®E (©0ee® e
ool (e [0cle
Answer: 201 - either position is correct
NOTE: You
may start your
|2]0]1 1
= -- i answers in any
Al ASAL |||  column, space
=4 NE A _Q : permitting.
A © @ © @ O] Columns you
® @ @ . . @ don't need to
B llele (@|@)| wuseshould be
Al Sl left blank.
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16 19
x+x=9 If +>0 and (St)z—5(3:}—14:0,whatisthevalue

What value of x satisfies the equation given? of 12

.
.
.

m i m
a

11x-33 h(x)=x*+ax® +bx+c
3 =X :
x—

) . : The function h is defined above, where a, b, and c are
What is the solution to the equation above? integer constants. If the zeros of the function are -5, 6,

and 7, what is the value of ¢?

2x+3y=31
3x—y=30

If (x,y) is the solution to the system of equations above,
what is the value of 100x+40y?

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.

[ conTINuE 4

Unauthorized copying or reuse of any part of this page is lllegal. 41
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Math Test - Calculator

55 MINUTES, 38 QUESTIONS

Turn to Section 4 of your answer sheet to answer the questions in this section,

DIRECTIONS

For questions 1-30, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 31-38,
solve the problem and enter your answer in the grid on the answer sheet, Please refer to
the directions before question 31 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is permitted.

2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4. Allfigures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x) is a real number,

14 : 2 £
Ih M X _~60 .
! 0°
b x\3
A=nr? A=Ffw A :Ebh =4+ b? Special Right Triangles
C=2nar
. . &
V= twh V=mh V—gzcr V:%xrzh V:%fc’wh

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 27.
The sum of the measures in degrees of the angles of a triangle is 180.

Unauthorized copying arreuse of any part of this page is illegal, 42 m

- 306 -



4

B0
Makayla is planning an event in a 5,400-square-foot If lx —lx —1, whatis e value of 4
room. If there should be at least 8 square feet per person, : 2 6
what is the maximum number of people that could

attend this event? - A) —4
A) 588 . B) %
" :
) 675 o 3
C) 15,274

D) 6
D) 43,200

y
9
8
7 L~
P° S a
X . Z i el
/\ 3 /‘_,-/
2l L1 o — 1
14
Note: Figure not drawn to scale, 00 Y% & & & & 8
In the figure, three lines intersect at point P. If x=65 The scatterplot above shows eight data points in the
and y=75,what is the value of 22 xy-plane. A line of best fit is also shown for the data. If
A) 140 i each data point is shifted 3 units upward and a new line
: of best fit for the shifted points is drawn, how will the
B) 80 value of the y-intercept of the new line compare with
H L] ?
0 : that of the line shown?
D) 20 A) It will increase.
: B) It will decrease.
C) It will remain the same.
D) There will no longer be a y-intercept.
Unauthorized copying or reuse of any part of this page is illegal. 43
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y ¢ Gerardo has 3 blue shirts and w white shirts in his
5 : closet, and these are the only shirts in his closet. If
4 K Gerardo selects a shirt at random from his closet,
- =3 which of the following gives the probability that
2 Gerardo will select a white shirt?
e
L~ :
x : w
543 2 10 2 3 4 5 g A
'l"‘l/ : ) 34w
3+w
.5
o =
Lines £ and k in the xy-plane above are the graphs of 3
the equations in a system. How many solutions does 3
: D) —
the system of equations have? w
A) None
B) One
C) Two

D) More than two

Unauthorized copying or reuse of any part of this page is lllegal. 44
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f(x)=-0.001160(x -251.5)" +73.37

The vertical height, in meters, of the upper arch of the
Harbor Bridge in Sydney, Australia, above the
roadway of the bridge can be modeled by the function
above, where x is the horizontal distance along the
roadway, in meters, from the entry to the bridge. The
graph of y=f(x) is shown in the xy-plane below.

Y

f 100 EROVI0 | aNe

5% bridge [ —f )

S g / T e

= 50 P —\F\ 9

§E 1A #

ua S j |

s 0 &
0 100 200 300 400 500 600

Distance from entry to bridge (meters)

In the graph, the point (0, 0) represents the entry to
the bridge. Which of the following points represents
the exit from the bridge on the opposite end?

A) (0,73.37)

B) (0,503.0)

C) (73.37,0)

D) (503.0,0)

Unauthorized copying or reuse of any part of this page isillegal.
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The graph of y=f(x) is a line in the xy-plane that
passes through the point (0, 2) and has a slope of 5.
Which of the following equations could define the
function f?

A) f(x]=~%x+5
B) f(x)=—%x+2
C) f(x)=2x+5

D) f(x)=5x+2
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Citrus Production in China (2006-2014)

40
35
30 ]
25] » S ——
20
154—}—
10

3

0

b

Citrus Production
{millions of metric tons)

0 2 4 6 8
Years since 2006

The scatterplot above shows the citrus production, in
millions of metric tons, in China from 2006 through
2014, Which of the following could be the slope of a
line of best fit for these data?

A) 212

B) 5.25

C) 7.80

D) 10.29

Unauthorized copying or reuse of any part of this page is illegal.
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f(x)=(x+4)(x-1)(2x-3)

4

The function f is defined above. Which of the followihg
is NOT an x-intercept of the graph of the function in

the xy-plane?
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Questions 11 and 12 refer to the following Which of the following equations could define Casa
information function of ?
n Io7) A) C(t)=25t+6
S .- B) c(t)=2t+85
2 [ 1 : 5
| 3 13.5 C) cC(t)=25t+85
4 16 : 5
The length C(t), in inches, of a channel catfish in an D) c(z) Eahead
Towa river ¢ years after the first year of life can be
approximated by the linear function C. Some values of
C(t) are given in the table above.
b
F(t)=3t+4
| The length F(t), in inches, of a flathead catfish in the

same Iowa river f years after the first year of life can be
approximated by the linear function F, defined by the
equation above.

2t According to the model, which of the following is
closest to the expected age, to the nearest whole year,
of a flathead catfish that is 31 inches long?

A) 10 yearsold
B) 13 yearsold
C) 98 yearsold
D) 106 years old

Unauthorized copying or reuse of any part of this page Is lllegal. 47
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Questions 13 and 14 refer to the following information

100%

80% |

60% -

40%

20%

Country Total fittings | Mean age
Canada 936 34.6
France 1,470 349
Netherlands 943 35.0
New Zealand 721 36.3
Sweden 436 36.3
Taiwan 1,574 26.6

0%

Type of Contact Lens Fittings

I percent refittings
percent new fittings

The results of an international survey of contact lens fittings during a given time period are summarized in the
table and bar graph above. The table shows the number of total fittings and the mean age, in years, of the
patients who were fitted for contact lenses during the time period. The total fittings consisted of new contact
lens fittings and refittings. The bar graph shows the percent of the patients who received new fittings and the
percent who received refittings.

What is the range, in years, of the mean ages of the
patients surveyed who had contact lens fittings in the
countries shown?

A) 8.0
B) 84
C) 9.7

D) 103

Unauthorized copying or reuse of any part of this page is illegal.

Of the following, which best approximates the number
of patients surveyed who received refittings in New

Zealand?

A) 274
B) 358
C) 447
D) 585

48
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A park ranger asked a random sample of visitors how far
they hiked during their visit. Based on the responses, the

Observed Matings among Fruit Flies

a

estimated mean was found to be 4.5 miles, with an Female fruit fly group
associated margin of error of 0.5 miles. Which of the Fe'male Fe‘male
following is the best conclusion from these data? raisedon | raisedon | Total
starch maltose
A)- Itis likely that all visitors hiked between 4 and 5 Male
i raised on 22 9 31
miles. :: Malle e
B) Itis likely that most visitors hiked exactly 4.5 miles. = fruttfly ——
: group ale
C) It is not possible that any visitor hiked less than 3 raised on 8 20 28
i maltose
miles.
Total 30 29 59

D) Ttis plausible that the mean distance hiked for all
visitors is between 4 and 5 miles.

Unauthorized copying or reuse of any part of this page is lllegal.

The table above shows the observed mating frequencies
among a group of fruit flies raised on either a starch
medium or a maltose medium. What fraction of the
observed matings were between fruit flies that were
raised on the same medium?

N 2
31
B X
59
&6 =
59
py A2
59

49
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03+ : WA sample of 40 fourth-grade students was selected at
pe——— six-pointed | needles | SiX- random from a certain school. The 40 students
e 0s starsand | and P‘;::;;d completed a survey about the morning announcements,
Cha | plates  foolumiis and and 32 thought the announcements were helpful,
%‘ plates Which of the following is the largest population to
g 01 which the results of the survey can be applied?
= plates
pris \ : A) The 40 students who were surveyed
et % O :  B) All fourth-grade students at the school
Temperature ( °F) C) All students at the school
The figure above shows a graph with six regions that D) All fourth-grade students in the county in which
correspond to temperature, in degrees Fahrenheit (°F), the school is located

and humidity conditions, in grams of water vapor per
cubic meter of air (g/m?), that will result in different
snow crystal shapes when the crystals are grown in a
laboratory. Based on the graph, which of the following
is a combination of temperature and humidity at which
prisms will be formed?

A) 5°F and 0.15 g/m’
B) 15°Fand0.18 g/m?
C) 20°F and 0.02 g/m?

D) 30°F and 0.08 g/m?

Unauthorized copying or reuse of any part of this page Is lllegal, 50
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Questions 19 and 20 refer to the following
information

Ryan is comparing five different hay balers (machines
that make bales of hay). The bales made are all in the
shape of a cylinder, as shown below.

y

The price of each hay baler and the dimensions of the
bales of hay it makes are shown in the table below.

Hay Bale diameter Bale Price
baler range width
A 32-51in 46 in $19,800
35-60 in 46 in $27,900
C 35-72in 46 in $32,000
D 35-65 in 62in $37,500
E 32-72in 62 in $46,900

19

Of the following, which ratio is closest to the width of
bales made by hay baler A to the width of bales made by
hay baler D?

A) 0.74:1
B) 1.35:1
C) 1.74:1

D) 171

Unauthorized copying or reuse of any part of this page is |llegal.

4]

Which of the following is closest to the percent by
which the price of hay baler E exceeds the price of hay
baler C?

»

A) 18.9%
B) 31.8%
C) 40.5%
D) 46.6%

51
-315 -



14

x=y=1 In a right triangle, the tangent of one of the two acute

x+y=x"-3 ;
& angles is % . What is the tangent of the other acute

4

Which ordered pair is a solution to the system of

equations above? angle?
V3
A) (l+\6~'€) A) e
3
( ) : B) -—
V3
) (1+5.5)
o B
D) ( =145 ) 3
3
D) —
NEY
22 :
The graph of the exponential function gin the 24
xy-plane Rasacs through the .Pﬁiflts (0,1),(1,4),and In the xy-plane, line ¢ has a slope of 2. If line k is
(2, 16). Which of the following is NOT true? perpendicular to line £, which of the following could
A) A line can be drawn that does not intersect the be an equation of line k?
graph of g. :

. ) A) -10x-5y=20
B) A line can be drawn that intersects the graph of g

at exactly one point. B) 3x-6y=14
C) Aline can be drawn that intersects the graph of g C) 4x-2y=17
at exactly two points. 5
D) Aline can be drawn that intersects the graph of ¢ D) Gxtlay=36
at exactly three points.
Unauthorized copying or reuse of any part of this page s lllegal. 52
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public space

Note: Figure not drawn to scale.

The diagram above represents Edward T. Hall's

4

¢

concept of space surrounding a person defined by four

nonoverlapping regions. Intimate space is the region
inside a circle of radius 1 foot. Personal space is the
region within a circle of radius 4 feet but outside
intimate space. Social space is the region within a
circle of radius 12 feet but outside personal space.
Public space is the region within a circle of radius 25
feet but outside social space. What is the area, in
square feet, of the shaded region representing a
person's social space?

A) 127n
B) 128n
C) 1l44n
D) 6257

Unauthorized copying or reuse of any part of this page Is illegal.

Anita created a batch of green paint by mixing 2
ounces of blue paint with 3 ounces of yellow paint. She
must mix a second batch using the same ratio of blue
and yellow paint as the first batch. If she uses 5 ounces
of blue paint for the second batch, how much yellow
paint should Anita use?

A) Exactly 5 ounces

B) 3 ounces more than the amount of yellow paint
used in the first batch

C) 1.5 times the amount of yellow paint used in the
first batch

D) 1.5times the amount of blue paint used in the
second batch

53
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ax-4(3+2x)=-12
In the equation above, a is a constant, For what value of
a does the equation have infinitely many solutions?

A) -8
B) -2
o 2
D) 8
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The wholesale price of a kilogram of lentils decreased
by 1% from the previous month for six consecutive
months. If x is the number of months since the price
began to drop and y is the cost of a kilogram of lentils,
which of the following equations could model the cost
of lentils over this time period?

A) y=099x+1.65
B) y=1.01x+1.65
C) y=165(0.99)"
D) y=1.65(101)"

Unauthorized copylng or reuse of any part of this page Is illegal.
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2 e 3 _ rx+t
x=2 X+5 (x-*z)(x+5)

The equation above is true for all x >2, where rand t
are positive constants. What is the value of r#?

A) =20
B) 15
c 20
D) 60

54
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If ax+a=3,where ais a nonzero constant, which of
the following must be equal to x+1?
A) 3

B) a

C) 3a

D)

|w
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Answer: 2.5

—

Answer:
DIRECTIONS

. Write
For questions 31-38, solve the problem and answer

enter your answer in the grid, as described in boxes.[
below, on the answer sheet.

N

< Fraction
line

-

WEOGOEWE @®OOE|-
O

5

« Decimal
point

1. Although not required, it is suggested that
you write your answer in the boxes at the top
of the columns to help you fill in the circles Grid in
accurately. You will receive credit only if the result. 3
circles are filled in correctly.

2. Mark no more than one circle in any column,

No question has a negative answer.

4. Some problems may have more than one
correct answer. In such cases, grid only one
answer, 5

5. Mixed numbers such as 3% must be gridded Acceptable ways to grid % are:

W

PPNV OCO®~
OECPVEOOOO [N [

Clcl ICICICICICISN @)

©eQ0000eR0OI0 |u

CEROCO®OEO._
PEARLECOCE

as 3.5 or 7/2.(If is entered into the
6

Al sl

S

grid, it will be interpreted as 3g,not 3% J
6. Decimal answers: If you obtain a decimal

answer with more digits than the grid can

accommodate, it may be either rounded or

truncated, but it must fill the entire grid.

S00EEEOCIE®

@&
0OEROEEGEIO [N

000REEEEDEI®

P00 0000a™
9P00OCCIe~

9060000608
0066ERCCIL|®

Be0000CLD
eIl lclelc ol
ekl
2360660001

Answer: 201 - either position is correct

NOTE: You
may start your
answers in any
column, space
permitting.
Columns you
don't need to
use should be
left blank.

&)

GIEIIS

Qo0
oY 1)

fIcleIc)e 1

YOEL IO
2l ICIC)

d
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Nx+4=11

What value of x satisfies the equation above?

Boat A |- |

Boat B H—

0 10 20 30 40 50 60 70
Number of fish caught

The box plots above summarize the distribution of the
number of fish caught each day on two commercial
fishing boats for a season. By how many fish does the
median number of fish caught each day on Boat B
exceed the median number on Boat A?

Unauthorized copylng or reuse of any part of this page Is lllegal.
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If a is the mean and b is the median of nine
consecutive integers, what is the value of |a—b|?

y=—16t" + 64t +80

The equation above gives the height of an object above
the ground, y, in feet, t seconds after it is launched
from a platform. How many seconds after it is
launched does the object reach the ground?



I:—‘f—
R

The formula above is Ohm's law for an electric circuit

with current I, in amperes, potential difference V, in

volts, and resistance R, in ohms. A circuit hasa :
resistance of 500 ohms, and its potential difference will
be generated by n six-volt batteries that produce a total
potential difference of 6n volts. If the circuit is to have a
current of no more than 0.25 ampere, what is the

greatest number, n, of six-volt batteries that can be

used?

e ]
38

36

In the xy-plane, line k intersects the y-axis at the point
(0, =6) and passes through the point (2 , 2). If the
point (20, w) lies on line k, what is the value of w?

4

In a science classroom, when labs are performed,
students are seated at lab tables. If the teacher assigns 2
students to each lab table, 4 additional lab tables will be
needed to seat all of the students, If the teacher assigns
4 students to each lab table, 4 lab tables will not be used.
How many students are in the science class?

The number y is 20% greater than the number x. The
number z is 20% less than y. The number z is how many
times x?

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.

Unauthorized copying or reuse of any part of this page is illegal. 57
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ViR IN|O V& |WwIN| -

WRITING READING NO CALC
- A 1 A 1 D
2 D 2 B 2 B
3 B 3 C 3 A
-1 = s B 4 A
> D S A S5 C
6 L= & A 6 B
7 C 7 D 7 C
a8 A 8 - a8 D
9 B 9 D 9 B
10 C 10 D 10 B
11 D 11 C 11 A
12 A 12 D 12 C
13 B 13 A 13 &
14 B 14 D 14 D
15 B 15 B 15 C
16 D 16 A 16| 4.5,9/2
17 A 17 - 17 13
18 B 18 C 18 1220
19 D 19 =] 19 |17/3,2.33
20 A 20 D 20 210
21 C =3 B
22 B 22 A
23 C 23 D
24 D 24 C
25 A 25 B
26 C 26 A
27 D 27 C
28 B 28 A
29 B 29 D
30 A 30 B
31 B 31 D
32 D 32 A
33 A 33 B
34 D 34 C
35 C 35 C
36 C 36 A
37 [ = 37 A
38 D 38 D
39 A 39 B
40 D 40 A
41 D 41 B
42 B a2 D
43 A a3 C
a4 B a4 C

45 D

46 A

a7 8

a8 A

49 D

S0 D

S1 C

52 D

- 323 -

[
N

nou[=0|IN|N|I0|I0|R(O(O(O(2 (0|2 |2|N|D|O|N[(N|P|P|®(>|0|0P|®|>(N[(N|w

NN
&0

3L

.96, 24/25




	real sat math B2_Page296
	real sat math B2_Page298
	real sat math B2_Page299
	real sat math B2_Page300
	real sat math B2_Page301
	real sat math B2_Page302
	real sat math B2_Page303
	real sat math B2_Page304
	real sat math B2_Page305
	real sat math B2_Page306
	real sat math B2_Page307
	real sat math B2_Page308
	real sat math B2_Page309
	real sat math B2_Page310
	real sat math B2_Page311
	real sat math B2_Page312
	real sat math B2_Page313
	real sat math B2_Page314
	real sat math B2_Page315
	real sat math B2_Page316
	real sat math B2_Page317
	real sat math B2_Page318
	real sat math B2_Page319
	real sat math B2_Page320
	real sat math B2_Page321
	real sat math B2_Page323



